olJ
K
ol
o8

olig
Nfo

op

@)1 =0.90

® 0.1

® 0.9=0.89

0.9

D1

@ 1.9=1.89

0.09

0.9

1




—_
1o

@ a15 @ (116 @aIQ @ a20

® a2

(a®)* x (a®)® x a® = a® x a® x a® = a*? O|T}.




3. e[ Jerel Qe 47t R W gE 27

D (x3)° = x5
o (7) -%

@ (xPy3)t = x20y12

@alo +ad® =a®

@3x[ J=15 [ ]=5
@[ |x2=10 [ ]=5
@[ |x4=20 [ ]=5
@®@10-[ ]=2 .~.[]=8
®3+[ |-4=4 [ ]=5016=(-2)%




oS "3} Zo] Y7159
3xo]al Fam7} 24nx” L of
™Y

8 8
@ gxs @ §x6

(27159 F3) = (B Hol) x (F°]) o] B2
o|E p} 5HH 24nx” = 1 (3x)% X h

_ 24nx” 8

T 92 3




olJ
RS

v
0

<k

of
Nfo

op

® 3.14

@ 0.7

®n

® 0.2134

35

W x3x7

‘ < 3.141592--- §




@® 0.1 @ 0.2 ® 0.3 @ 0.4 ®)0.5

9 9 )
= 045 0]B8 =~ Hr} 2 2L o5 o]t}
50 0.45 ©] 50 =5 0.5 o]tk




A+03==>%d 0 A9 32?7

[SVRN )

®o2 @02 @Goi @0

® 0.4

.2
A+03 =<
+ 3

2 .2 1 1 .
A—§—0.3—§—§—§—0.3




® 3 )4 ® 5

32° = (2%)% = 210 = (22)% x 2°
o|BEE 6+0=10
. o0=4







10. the 5 AN AVt ab 7 obd 22

@ a®b x a®b® + a®b® @ (-a)? +abxb?
® ab* + (-a) + (—ab?) @ ab® x a®b + (—ab)?

@b +a®xa*b
B

1
D a?b x a?b® + a®*b3 = a?b x a*b® x —5 =ab
a3b3

1
@(—a)2+ab><b2:a2><ﬁxb2=ab

® a®! = (-a) + (-ab®) = @%b X 5 X o =

@ ab® x a®b + (—ab)? = ab?® x a®b x

a2b?

1 3
®b=+a®xa*b=bx (5) x a*b = ab?




11. —dabx[ =122 W[ |

@—3a2b @ -3ab?
@ a®b ® 3a%b




)

o

2 Uehfolx 42 §elset
=
=

4
b
7t
5

o, 24
2
o}

st

e

L z70]
AAL BT SRl

b+ 0 o]}

Qg
@ =%




® 3

38-10 _




14.

(5x")" = 125x° 4 W, a + b ©] FH2?

@ 3 @ 4 ® 5 @6

® 7

xab_xg
ab =29
a=3




15.

2 = x A u), 320 2 x O] AGAFOE vhEA hehd 227

D x? @ x* @ @ x8 (@)xlo

326 — (25)6 — 230 — (23)10 — xlO




16. §x4 + (lx3y) + <—lxy2) =4

12 4
D -16x8y2 @ _16x6
y
1 16x8
B -
16y3 y3

7x4X12 (4) 16

- — X -—— | = —-——
3 Txdy xy? y3




1)1<x<100
i) 575 & 452 e A faagrt g

D)yaM @ 674 ® 874 @ 147H ® 337}

i:;ong — 21 9] vjjZ=0
210 ~ ax3xpxT I X = 218 el

wtebA 21, 42, 63, 84 9] 47o]tt.




a a

— = 7} fetASo|HH q = 9 9 vjgeo]ofo
0 S PRa b atagolH™ a = 9 9 Hjgo]ofof

o|BE g = 7 o] HijsrolTh
T e o] RpA4olB 2 63 o]t}

s, 7joRes R 1A

wEtA g = 32 x 7T xn
63 7

— = — O|B =% p =20 O|T.
180 20 ] b 0l

kA a + b = 83 o]t}

0 o~




19. wa= AAtste] 242 YErE?

1+ 0.5+ 0.05 + 0.005 4+ 0.0005 +- - - -

15 15 15 14
) @ % ® % @3

14
90




20. 2'9%3x5% 2 R A9 4171

@ sAe|e] 5 @ 9x= & @)= 4
@ 1174429 5 ® 12489

228 x 3x 58 =22 x3x (2x5)% =12x 108
wehA 10 2He] o o),




